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Question 1
Question Type: MultipleChoice

Which of the following does not belong to the software component FC SAN storage network?

Options: 
A- Storage device side software system

B- Switch Operating System

C- Storage device side HBA Driver

D- The client application

Answer: 
D

Question 2
Question Type: MultipleChoice



Storage arrays, which of the following situations will cause the LUN to write into write-through policy? (Choose three)

Options: 
A- Fault management network port

B- Fan failure

C- BBU failure

D- Controller failure

Answer: 
B, C, D

Question 3
Question Type: MultipleChoice

A customer wants to buy a SAN array, Oracle and SQLServer databases used in business, he should choose the appropriate storage

array from which indicators?



Options: 
A- IOPS

B- Bandwidth

C- CPU utilization

D- Memory utilization

Answer: 
A

Question 4
Question Type: MultipleChoice

The following statement is correct? (Choose two)

Options: 
A- Copied from the remote LUN mapping to the application server can be read



B- Virtual snapshots can be mapped to the application server after you read them

C- After the full amount LUN copy is complete, the target LUN can be mapped to the application server, and its literacy

D- Incremental LUN copy process, the target LUN can be mapped to the application server, and its literacy

Answer: 
B, C

Question 5
Question Type: MultipleChoice

Host side reported "IO error or IO Timeout" fault, the problem can be excluded from the storage side which of the following aspects?

(Choose three)

Options: 
A- Whether the normal state storage RAID LUN

B- Whether to store the state of the physical hard disk read and write properly

C- FC or iSCSI link state whether normal



D- Username and password to log array

Answer: 
A, B, C

Question 6
Question Type: MultipleChoice

Contains nodes (node) in a standard fiber environment, port (port), link (link) an integral part of the following statement is correct there?

(Choose three)

Options: 
A- Node refers to fiber optic equipment, such as. servers, disks, etc.

B- Each node at least one port, the port provides a connection to the actual external, typically by the server to achieve the HBA

C- Link is the actual transmission medium, the information used to connect to another node link ports composed by a pair of fiber optic

cable from a node, a receiver connected to fiber-optic cable and port, the port is an incoming message fiber-optic cable and port

transmitter is connected, the information came to this port



D- A node can have only one port

Answer: 
A, B, C

Question 7
Question Type: MultipleChoice

Hard disk media storage system scan OceanStor series in what way?

Options: 
A- All sectors of the hard disk is read sequentially

B- Use the built-in hard disk media scan feature

C- Using third-party software embedded controller

D- Independent development of new analysis software

Answer: 



B

Question 8
Question Type: MultipleChoice

Which of the following features of the storage array to the resource pool space is needed? (Choose two)

Options: 
A- Asynchronous remote replication

B- Synchronous remote replication

C- A copy of the full amount LUN

D- Incremental LUN copy

Answer: 
A, D
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